2 RARE=SIVTBRERR

Ei L] #5832 (Ba/kg)
NO | WG | WERR | WEH | oey il samw) | mme |y REA (e, 290, 2HRE il BEE | G | wmn | 014 | o197 | ostE
1 %:%ﬁ vy | BER reMm — I REY Faol 54 BERRRRE TS Ge H25.2.26 | H25.2.27 <33 <34 <67
2 %f‘ffp,j BER BEm — FEE R REY RILIYY k4 EERBRERE S Ge H25.2.26 | H252.27 <39 <46 <85
3 %f”ﬁb,j rER B — I REY w2y 54 BERRRRE V5 Ge H25226 | H25227 | <53 <58 <n
4 %f‘ffp,j BEER B — FEE BEY IXEFF Jicks:4 BEREERES VS Ge H25.2.26 | H25.2.27 <40 <39 <19
5 %:%;f vy | BER SEHET — ERBR REY BI/A HEE% BERRRBEEVS— Ge H25.225 | H25.2.27 <88 <72 <16
6 %f‘ffp,j BEER AEHRT — FEE REY RILIYY ik EERBERE S Ge H25.2.26 | H252.27 <12 <5.1 <12
1 [REE_, | mem | =sm — FHER | REN 2%y sk ERRRRLA L5~ Ge | M2 | Hs227 | <51 | <as | <98
8 %f‘ffp,j BEER =&HT — FEE S RED RILIYY ik EERBRERE S Ge H25.2.26 | H252.27 <48 <47 <95
9 %fﬁb,j BER BE™ — ERBER REY 173 i BERRRBEEVS— Ge H25.2.27 | H25.2.28 <91 <72 <16
10 %f‘ffp,j BEER BEm — FEE REY =3 54 EERRERE I Ge H25.2.27 | H252.28 <64 <40 <10
11 %fﬁb,j BER Bl - B BEY 4+A — BERRREEEVS— Ge H25.227 | H25.227 <17 <69 <15
12 %f‘gﬁp,j BEER Bl — FEE BEY 47 — EERRERE I Ge H25.2.27 | H252.27 <89 <18 <17
13 %fﬁbd rER AR — ERBER BEY 45 — BERERRRE V- Ge H25.2.27 | H25.2.27 <76 <6.0 <14
14 %f‘gﬁp,j BEER Bl — FEE BED 47 — EERRERE I Ge H25.2.27 | H252.27 <10 <63 <13
15 %fﬁbd rER AR — MBS BEY 45 — BERERRE V- Ge H25.2.27 | H25.2.27 <717 <6.2 <14
16 %f‘gﬁp,j BEER Bl — FEE BED 47 — EERRERE S Ge H25.2.27 | H252.27 <80 <18 <16
17 %fﬁbd rER ERilih — ERBER BEY 45 — BERERRRE V- Ge H25.2.27 | H25.2.27 <9.6 <80 <18
18 %f‘ffb,j BEER Blm — FEE BED 47 — EERBRERE I Ge H25.2.27 | H252.27 <719 <10 <15
19 %fﬁbd rER ERilih — FERBER BEY 45 — BERERRE V- Ge H25.2.27 | H25.2.27 <88 <86 <17
20 %f‘ffb,j BEER Blm — FETE BED 47 — EERBRERE I Ge H25.2.27 | H252.27 <88 <19 <17
21 %fﬁbd rER ERilih — ERBER BEY 45 — BERERRRE V- Ge H25.2.27 | H25.2.27 <81 <80 <16
22 %f‘ffb,j BEER BlH — FETE BED 47 — EERBRERE I Ge H25.2.27 | H252.27 <99 <8.1 <18
23 %fﬁbd rER ERilih — FERBER BEY 45 — BERERRRE V- Ge H25.2.27 | H25.2.27 <88 <72 <16
24 %f‘ffb,j BEER Bl — FEE BEY 47 — EERRERE I Ge H25.2.27 | H25.2.28 <89 <82 <17
25 %f”ﬁb,j rER ARl — ERBER BEY B! — BERRRRE V- Ge H25.2.27 | H25.2.27 <88 <83 <17
26 %f‘ffp,j BEER A — B BED 4HA — EERBRERE I Ge H25.2.27 | H25.2.27 <82 <93 <18
27 %f”ﬁb,j rER AR — ERBEmR BEY 45 — BERRRRE TV Ge H25.2.27 | H25.2.27 <85 <84 <17
28 %f‘ffp,j BEER LWhEm — B BED Ll — EERRERE I Ge H25.2.27 | H25.2.27 <90 <79 <17
29 %f”ﬁb,j rER WhEH — B BEY 47 — BERRRRE V- Ge H25.2.27 | H25.2.27 <65 <6.4 <13
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#52 (Ba/kg)

Cs-134 Cs—137 Cs&it
<73 <71 <14
<87 <70 <16
<938 <82 <18
<9.1 <741 <16
<9.0 <88 <18
<11 <74 <18
<74 <6.8 <14
<89 <1713 <16
<83 <6.5 <15
<96 <83 <18
<74 <6.3 <14
<17 <6.9 <15
<6.1 <57 <12
<85 <1713 <16
<79 <73 <15




